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ECE 2300 - Circuit Analysis — Spring 2000, Section # 02223
Quiz #2

Wednesday, February 23, 2000

DO NOT OPEN THIS QUIZ BOOKLET UNTIL INSTRUCTED TO DO SO

This quiz has four Pages, including this cover page. If you are missing any
page, raise your hand. To complete the quiz you have 25 minutes.

Notes:
1. Be sure that your name, ID number and the signature appear above.
2. The quiz is closed books and notes!!!
You may use any calculator you choose.
3. Along with solving the problem, to receive full credit you must;
a) Show all work needed for solution;
b) Clearly indicate your answer (for example, by enclosing it in a box);
©) Define all variables and parameters, and label them on the circuit diagram;
d) Show all units explicitly, in intermediate numerical results as well as in final solutions;
€) Use the proper notations for all quantities,
4. Do not use red ink.
5. Keep in mind that most of the credit for the problem will be given for showing the correct
methods or equations.
6. This quiz has one problem, and the total number of points is 100,
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For the circuit shown in the figure that follows, calculate what value has the terminal voltage vj,

of the resistance R;, and the current i;, flowing in resistance R (for the positive reference
of v; and i see the figure).

Then in the circuit shown, a voltmeter with a full-scale reading of vg = 100 /V/ is parallel

connected to the resistance R;, and an ammeter with a full-scale reading of i¢ =2 /A/, is series
connected to the resistance R..

Each meter (the voltmeter and the ammeter) is built with a d’Arsonval meter movement of rated
data Vaaraea=500/mV/, and igarateda =10 /mA/.

When both meters, the voltmeter and the ammeter, are connected in the circuit (how it was
explained above), what voltage the voltmeter reads, and what current the ammeter reads ?

For intermediate and final numerical steps carry at least four decimal digits !!

Ry =80/
12

(\95: R2=
{oov| O 2o/n|
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With the voiagqe divider wle, the fermnal mh‘nje g "
s obfarned as:

R . 50_ . solvi l
E""% Ri+Re foox 80+20

. ' ’ 7{
Then with $he Ohm's law , aylied 4o the epurvalen’
resistance of Ry and R, fen'er/wmec/u/ ) ;;h( cument '
vesth af; |




[image: image3.png]-2

edededede e de dede e o e e o e e e sk o o e o ok o ok ke ke e o e e o e e e s v e s e vk i o Ve s el e e o e v o o e ok vk e o ok e e vk ok o e sk ke o e o o v e o e e e ke e

ECE 2300 - Circuit Analysis — Spring 2000, Section # 02223, Quiz # 2

e e e e de o e e oo e e e e s e e ok e o e e o s ok s o ke e o e o e s s e ke e s e i e e e e e e e ok e ok e ok vk e e e e ok e o ke ok e o e e e e e e e e e e e e

L % —JL:'N/H!

RieRe ~ 0w

When the melers are inclyded in +he yraut , the ervom?
Jooks Uke:  Rvm={aoovial — vol£me fov

Te Pﬁ'nd the meapyred Va(fajz and cament, e mekrs
esistanee muct be defined
The mefers vesistane i5.

- )[,., voltmeler: R, = T = 40,0001/
5
~foc armmeker” Rpw = . ubd —%—-:0.25/1’-/
/‘.fs

Then with the ve/%aje divider vale the measured
wHaye of the Ris ferminals is: |
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Ry .
= Afs =
"g{.mcm Ri+(Ro+Ram ) + R¢ (Rs 4 RAM)
Rym

80 =79.6748/v|
= A00% e 2 T06 T8

80+ (2040.268)+ — ==
()

QU M
M“ ) = fw-T9.6M3 = 20.3282 v/,
’ /ﬂM_ ﬁ/"bli'ed o (Ro+ Rﬁm)' i+ resvlfs.

— 203282 _jy59/4])
A2meas + 20 +0:25





